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Geometry Regents Lomac 2015-2016 Date11/16 due11/17 Congruent Triangles SAS Proofs  4.3R
Name Per
LO: | can use the SAS shortcut for proving that two triangles are congruent to determine whether
or not two triangles are congruent and write a proof.
[]DONOW  On the back of this packet
[1(1)  [IGiven: The diagram as marked A Q
Prove that AABC = ARSQ or explain why you cannot.
B R
| know that. .. because. ..
[1(2) []Given: KM and JN bisect each other. N
Prove that AJKL = ANML or explain why you cannot. K
L

| know that . .. because




4.3R
[]@) []Given: msR=25°, RT=7", SU=5", ST =5" N
Prove that ARSU = ARST or explain why you cannot.
7" 5" 5!!
25°
R U T
| know that. .. because. ..
4 : — . —— = B
[1(4) []Given: AE bisects ~/BCD, BC = DC.
Prove that ACAB = ACAD or explain why you cannot.
4 C E
D

| know that. .. because...
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[1(5) []Given: SU and RT bisect each other. S T
Prove that A SVR = AUVT or explain why you cannot.
| know that. .. because. ..
[1(6) [JGiven: KL LLM, JM L LM, and JM = KL ] K
Prove that AJML = AKLM or explain why you cannot.
M L

| know that. .. because...
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1" [JGiven: BF LAC, CE L AB
Prove that ABED = ACFD or explain why you cannot.

| know that. ..

because...

[]1(8) []Given: LVXY = LVYX.
Prove that AVXW = AVYZ or explain why you cannot.

| know that. ..

because...
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[](9) Exit Ticket
ON THE LAST PAGE
[ ]1(10) Homework A
[](1) Given the diagram at right Y
PROVE: AABC = AXYZ
X

| know that . .. because...

[1(2) Given the diagram at right A ~
PROVE: AABC = AFDE &
F
c D
B

| know that. .. because...
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[1(10) LI®) GIVEN » PT = RT, OT = ST
PROVE » APQT = ARST

P Q

S R

| know that. .. because...

(14 GIVEN P__Q> bisects £ SPT,
SP=TP

PROVE » ASPQ = ATPQ

| know that. .. because...




Exit Ticket Name Date Per_ 4.3R

(1) The LO (Learning Outcomes) are written below your name on the front of this packet. Demonstrate your achievement of
these outcomes by doing the following: y

[]Given: £1= 22, BC = DC
Prove that AABC = AADC or explain why you cannot.
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DO NOW Name Date Per 4.3R

(1a) Can we use the SAS congruence shortcut to show that AABC maps to AFDE?

Explain. A E
F
c D
B
(1b) Can we use the SAS congruence shortcut to show that AABC maps to ADEF? A
Explain. F \ — E
C ;
! B
D

(2) Which two images below are identical?




